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	Purpose

	To test that the content of the undirected advertisements and/or scan responses contain at least the supported measurement service 16-bit UUIDs. 

	Discussion

	The presence of the measurement service 16-bit UUIDs allows a collector to determine exactly what the device supports without invoking a connection. Though these values are not required by the Bluetooth Low Energy specification, their inclusion makes a system more user friendly and interoperable and are (to be) required for PCHA complaint devices*. Though the services could also be placed in the 32-bit and 128-bit fields, the 16-bit field takes less space and all PCHA supported services can be represented in their 16-bit form.

It is also recommended that all Bluetooth-defined supported services that may be used by PCHA-complaint collectors be present, such as the Device Information Service and Current Time Service.

An advertisement or scan response is only required to contain the Bluetooth Address. However, these packets provide the only source of information about a device to a collector without engaging in a connection. Interoperability issues can be immediately avoided if the collector can determine that it cannot work with any of the supported measurement services. For collectors with a UI, knowing what the device supports in the process of discovery enhances the user experience.

See https://www.bluetooth.org/en-us/specification/assigned-numbers/generic-access-profile for a detailed description of the advertisement types.

	Test Procedure

	1. Assure that the DUT and collector are not paired.
2. Assure that the DUT is not paired with any other collector such that the peripheral will not send directed advertisements.
3. Have the collector perform an ‘active’ scan for undirected connectable advertisements (an active scan includes making scan requests).
4. Perform the actions necessary on the DUT to get it to advertise (for example put in pairing mode; take a measurement, etc.)
5. Validate that the DUT sends undirected connectable advertisements
5.1. If the DUT does not pass this step it will not be discoverable and the test procedure stops
6. Validate that the DUT responds to scan requests
7. Capture the advertisement and scan response packets
8. Examine the packets for the advertisement type 2 ‘Incomplete List of 16-bit Service Class UUIDs’ and advertisement type 3 ‘Complete List of 16-bit Service Class UUIDs’ fields.
9. Validate that all supported measurement services are present.

	Observable Results

	Status
	Description
	Procedure

	Pass
	The DUT passes all assertions
	

	Fail
	The DUT is not discovered
	5

	
	The DUT does not send a scan response
	6

	
	The DUT does not expose all its supported measurement services
	9


1.0.0.1 Advertisement Frequency First Time Connection
	Purpose

	Assure that the test collector can connect to an unknown DUT in a timely manner.

	Discussion

	The first time a DUT connects to a collector typically involves a user even if the DUT is not pairable. A DUT needs to advertise in such a manner that a collector can discover and connect to it in a timely manner to improve the user experience. The most serious interoperability concern is that the DUT stops advertising before a connection is made but it is also possible that the user gives up thinking that the process has failed because it has taken too long.

This test will measure the time it takes to establish a connection. The DUT passes if a connection is established but a better passing grade is associated with shorter times.

Given that time to connection depends upon both the DUT’s advertising and collector’s scan rates and choice of channels, this test is repeated for several different scan rates.

The scan interval and scan window in these tests are not gospel, but a variety of rates should be considered. For example the Android full duty is 4000, 4000 and the low duty is 400, 4000.

	Test Procedure

	1. Assure that the DUT and collector are not paired.
2. Assure that the DUT is not paired with any other collector such that the DUT will not send directed advertisements.
3. Keep the environment as free of interfering devices as possible.
4. Set the collector scan rate to a full-duty cycle using a scan window of 12 and a scan interval of 12 (these are BTLE codes where the time in milliseconds is obtained by multiplying by 0.625).
5. Have the collector perform an ‘active’ scan for undirected connectable advertisements (an active scan includes making scan requests).
6. Configure the test collector to connect only to the DUT.
7. Perform the actions necessary on the peripheral to get it to advertise (for example put in pairing mode; take a measurement, etc.) and start the timer on the test collector.
7.1. It is beneficial to have a sniffer running to assure that the DUT is still advertising, especially when the test collector is set to low duty cycles.
8. Record the time to the discovery of the first advertisement from the DUT. This time will be the start time.
9. Record the elapsed time to the subsequent scan response.
10. Record the elapsed time to the second advertisement from the DUT
11. Record the elapsed time to the subsequent scan response.
12. Invoke a connection to the DUT
13. Validate that the DUT connects
14. Record the elapsed time to the connection indication
15. Disconnect from the DUT
16. Repeat the test with lower duty scan rates:
16.1. Scan window = 6  Scan interval 12
16.2. Scan window = 6  Scan interval 24


	Observable Results

	Status
	Description
	Result

	Pass
	The DUT is discoverable and connectable
	

	
	Elapsed time to first scan response full duty
	

	
	Elapsed time to second advertisement full duty
	

	
	Elapsed time to second scan response full duty
	

	
	Elapsed time to connection indication full duty
	

	
	Elapsed time to first scan response half duty
	

	
	Elapsed time to second advertisement half duty
	

	
	Elapsed time to second scan response half duty
	

	
	Elapsed time to connection indication half duty
	

	
	Elapsed time to first scan response quarter duty
	

	
	Elapsed time to second advertisement quarter duty
	

	
	Elapsed time to second scan response quarter duty
	

	
	Elapsed time to connection indication quarter duty
	

	Times to connection under a second are excellent
Times to connection under 2 seconds are very good
Times to connection under 4 seconds are good
Times to connection under 7 seconds are okay
Times to connection over 7 seconds are not in the user-friendly domain

	Fail
	The DUT is unable to connect
	13





1.0.0.2 Advertisement Reconnection
	Purpose

	Assure that a collector can reconnect to a known DUT.

	Discussion

	Though a user typically needs to be involved setting up the first-time connection, subsequent uses of the DUT by the user should involve no more than taking a measurement or initiating a transfer.

The test collector in this case is assumed to know the DUT; it has either paired with it or stored it in a white list such that it recognizes an advertisement from the DUT and automatically connects to it without user intervention.

	Test Procedure

	1. If the DUT is pairable assure that the peripheral and collector are paired.
2. Set the collector scan window to 6 and scan interval to 12.
3. Have the collector performing ‘active’ scans for undirected and directed connectable advertisements (an active scan includes making scan requests on undirected advertisements).
4. Perform the actions necessary on the DUT to get it to upload data (take a measurement or press an upload data button, etc.)
5. Record the time to the discovery of the first advertisement from the DUT. This time will be the start time.
6. Record the elapsed time to the subsequent scan response.
7. Record the elapsed time to the second advertisement from the DUT
8. Record the elapsed time to the subsequent scan response.
9. Invoke a connection to the DUT
10. Validate that the DUT connects
11. Record the elapsed time to the connection indication
12. Disconnect from the DUT
13. Repeat the test with lower duty scan rates:
13.1. Scan window = 6  Scan interval 24
13.2. Scan window = 10  Scan interval 100

	Observable Results

	Status
	Description
	Procedure

	Pass
	The DUT re-connect
	

	
	Elapsed time to first scan response half duty
	

	
	Elapsed time to second advertisement half duty
	

	
	Elapsed time to second scan response half duty
	

	
	Elapsed time to connection indication half duty
	

	
	Elapsed time to first scan response quarter duty
	

	
	Elapsed time to second advertisement quarter duty
	

	
	Elapsed time to second scan response quarter duty
	

	
	Elapsed time to connection indication quarter duty
	

	
	Elapsed time to first scan response 10% duty
	

	
	Elapsed time to second advertisement 10% duty
	

	
	Elapsed time to second scan response 10% duty
	

	
	Elapsed time to connection indication 10% duty
	

	Fail
	The DUT does not re-connect
	10


2.0.0.0 First time Pairing Not Immediate
	Purpose

	To test that a DUT can pair when the collector does not immediately initiate pairing.

	Discussion

	Pairing must be initiated by the collector but when that happens is not specified. This test checks that the DUT pairs successfully when the collector does service discovery prior to sending a pairing request. If the DUT sends a security request the collector will send the pairing request when service discovery completes.

	Test Procedure

	1. Assure that the DUT and collector are not paired.
2. Put the DUT in a pairable mode.
3. Have the collector perform an ‘active’ scan for undirected connectable advertisements (an active scan includes making scan requests).
4. Validate that the DUT sends undirected connectable advertisements
4.1. If the DUT does not pass this step it will not be discoverable and the test procedure stops
5. Connect to the DUT
6. Begin service discovery
7. If a security request is received wait to respond until after service discovery completes.
8. When service discovery completes send the pairing request
9. Validate that the pairing succeeds.

	Observable Results

	Status
	Description
	Procedure

	Pass
	The DUT passes all assertions
	

	Fail
	The DUT is not discovered
	4

	
	The DUT does not successfully pair
	9




2.0.0.1 First time Pairing Immediate
	Purpose

	To test that a DUT can pair when the collector initiates pairing right after connection. The DUT should not send a security request if the collector sends the pairing request first. Due to latency issues, the latter can only be validated by examining a sniff.

	Discussion

	Pairing must be initiated by the collector but when that happens is not specified. This test checks that the DUT pairs successfully when the collector begins the pairing operation immediately after connection.

	Test Procedure

	1. Assure that the DUT and collector are not paired.
2. Put the DUT in a pairable mode. If there is no way to set a pairable mode, it is assumed that the DUT is always pairable and will respond to pairing requests from any collector.
3. Have the collector perform an ‘active’ scan for undirected connectable advertisements (an active scan includes making scan requests).
4. Validate that the DUT sends undirected connectable advertisements
4.1. If the DUT does not pass this step it will not be discoverable and the test procedure stops
5. Connect to the DUT
6. Send the pairing request
7. Validate that the pairing succeeds.

	Observable Results

	Status
	Description
	Procedure

	Pass
	The DUT passes all assertions
	

	Fail
	The DUT is not discovered
	4

	
	The DUT does not successfully pair
	9




2.0.0.2 Pairing On Authentication Failure
	Purpose

	To test that a DUT successfully pairs when the collector initiates the pairing request in response to an authentication failure.

	Discussion

	If a DUT does not issue a security request a collector shall be able to delay pairing until it performs some action that requires being in a paired state to perform. When the collector performs the secured action and is not paired the DUT shall respond with an authentication failure and allow the collector at least 5 seconds to begin the pairing operation. This behavior allows a collector to operate transparently with both pairable and unpairable DUTs without knowing ahead of time whether or not the DUT requires pairing.

	Test Procedure

	1. Assure that the DUT and collector are not paired.
2. Assure that the DUT is not paired with any other collector that is powered up and able to connect to it.
3. Put the DUT in pairable mode.
4. Have the collector perform an ‘active’ scan for undirected connectable advertisements (an active scan includes making scan requests).
5. Connect to the DUT
6. If at any time the DUT sends a pairing request exit the test and indicate that the test does not apply.
7. Perform service discovery
8. Validate that there is no authentication failure.
9. If at any time while performing actions 10-16 an authentication failure is received:
9.1. Validate that the DUT does not disconnect
9.2. Begin the pairing process
9.3. Validate that the pairing succeeds
9.4. Repeat the step that caused the authentication failure
9.5. Validate that the repeated step succeeds
9.6. Complete all the following steps that apply
9.7. Validate that all the following steps that apply succeed.
10. Read the device information service characteristics.
11. Read the Current Time Service (CTS) Current Time characteristic if the CTS exists
12. Read the measurement service DateTime characteristic if it exists
13. Read the Battery Level characteristic if it exists
14. Enable all PCHA supported measurement characteristics appropriate for the type (notification or indication)
15. Enable all PCHA control points
16. Initiate the RACP transfer all data operation should an RACP be supported

	Observable Results

	Status
	Description
	Procedure

	Pass
	The DUT passes all assertions
	

	Fail
	The DUT gives an authentication failure on service discovery
	7

	
	The DUT disconnects or is otherwise unable to continue after the authentication failure.
	9.1

	
	The DUT successfully pairs after an authentication failure
	9.3

	
	The DUT successfully completes the failed process after pairing
	9.5

	
	The DUT successfully completes all subsequent steps that apply
	9.7




2.0.0.3 Pairing to a new Peer when paired
	Purpose

	To test that a paired DUT can pair to another collector.

	Discussion

	This test is more about working with the DUT than a procedural test with the collector. It is unfortunate that there is no standard means for a user to make a DUT pairable which can be a frustrating experience for the user. This test is to assure that there is some means of making the device pairable such that it can be paired with a collector that it is not currently paired with. Some DUTs can pair with multiple collectors while others may only support a single pairing and may require unpairing before pairing with a new collector. In all cases, making the DUT pairable shall require only operations on the DUT itself. If there is no such UI operation, the DUT shall be able to respond positively to any new pairing request.

	Test Procedure

	1. Pair the DUT with collector A.
2. Disconnect from collector A and power down or unpair collector A so it will not attempt to reconnect to the DUT when it begins advertising.
3. Perform some operation on the DUT that will allow it to pair successfully with a new collector.
4. Validate that this operation does not require performing any task outside of some action on the DUT, for example separately connecting to a peer to unpair before it can successfully pair.
5. Put the DUT in pairing mode
6. Have the test collector perform an ‘active’ scan for undirected connectable advertisements (an active scan includes making scan requests).
7. Validate that the DUT sends undirected connectable advertisements
7.1. If the DUT does not pass this step it will not be discoverable and the test procedure stops
8. Connect to the DUT
9. Invoke the pairing procedure
10. Validate that the DUT successfully pairs.

	Observable Results

	Status
	Description
	Procedure

	Pass
	The DUT passes all assertions
	

	Fail
	The DUT cannot unpair
	4

	
	The DUT is not discoverable
	7

	
	The DUT does not successfully pair
	10





2.0.0.4 Repairing
	Purpose

	To test that a DUT can repair with a collector that has lost its pairing.

	Discussion

	This test is more about working with the DUT than a procedural test with the collector. It is unfortunate that there is no standard means for a user to unpair a DUT or make it pairable which can be a frustrating experience for the user. This test is to assure that there is some means of making the device able to repair to a collector that it is currently paired with but the collector has lost its pairing. 

The simplest solution for the DUT would be a UI option to unpair with a paired device. Whatever the method is the task shall only require operations on the DUT itself.

	Test Procedure

	1. Pair the DUT with test collector.
2. Disconnect.
3. Unpair the test collector.
4. Perform some operation on the DUT that will allow it to re-pair successfully with the test collector.
5. Validate that this operation does not require performing any task outside of some action on the DUT, for example separately connecting to a peer or using a proprietary application to unpair before it can successfully repair.
6. Put the DUT in pairing mode
7. Have the collector perform an ‘active’ scan for undirected connectable advertisements (an active scan includes making scan requests).
8. Validate that the DUT sends undirected connectable advertisements
8.1. If the DUT does not pass this step it will not be discoverable and the test procedure stops
9. Connect to the DUT
10. Invoke the pairing procedure
11. Validate that the DUT successfully pairs.


	Observable Results

	Status
	Description
	Procedure

	Pass
	The DUT passes all assertions
	

	Fail
	The DUT cannot unpair
	5

	
	The DUT is not discoverable
	8

	
	The DUT does not successfully pair
	11





2.0.0.5 Pairing without Resolvable Random Addressing IRK exchange
	Purpose

	To test that a DUT successfully pairs with a collector not using resolvable random addressing and only offering its LTK in the pairing request.

	Discussion

	If the DUT asks for the IRK in the security request or pairing response, this test loses its significance.

	Test Procedure

	1. 

	Observable Results

	Status
	Description
	Procedure

	Pass
	The DUT passes all assertions
	

	Fail
	
	

	
	
	

	
	
	






3.0.0.0 Consistency of Current Time
	Purpose

	Check that the measurement time stamps from a DUT are consistent with the time line revealed by its current time characteristic.

	Discussion

	A DUT can expose its current time through a CTS or a DateTime characteristic in a measurement service. The latter approach is specified by PCHA and not BT SIG. This test validates that the time stamps recorded in measurements are on the time line exposed by the DUT’s current time characteristic.

	Test Procedure

	1. If the DUT does not support a CTS or DateTime characteristic that is used for exposing the current time, the test is not applicable. Exit.
2. Assure that there are no temporarily stored measurements on the DUT.
3. Assure that the DUT is not paired with the test collector or any other collector in range.
4. Take a measurement off line and record the time.
5. Wait a notable time period and then pair the DUT with the test collector.
6. Have the collector read either the Current Time characteristic of the CTS or DateTime characteristic and note its value.
7. Have the collector enable all PCHA supported measurement characteristics and control points.
8. Invoke an RACP transfer if necessary.
9. If the temporarily stored measurement is not received, take a new measurement.
10. Validate that the measurement time stamp of the temporarily stored measurement is on the time line revealed in step 6.
11. Take an additional measurement (if not done in step 9)
12. Validate that the new measurement time stamp is on the time line revealed in step 6.

	Observable Results

	Status
	Description
	Procedure

	Pass
	The DUT passes all assertions
	

	Fail
	The time stamp in the temporarily stored measurement is not on the timeline exposed by the current time characteristic
	10

	
	The time stamp in the newly taken measurement is not on the timeline exposed by the current time characteristic
	11





3.0.0.1 Settable Current Time in CTS with New Measurements
	Purpose

	Check that a DUT supporting a Current Time Service with a writable Current Time Characteristic properly uses the updated time.

	Discussion

	There is no clear means for a DUT to indicate to a collector that it wants its time to be set. The only approach a DUT can take is to make its Current Time Characteristic writable. If the collector writes data to this characteristic, the DUT can respond with an error code 0x80 to indicate that one or more of the fields were not updated. Thus, the collector must read the set value to see if any of the values were set. If the time IS set it is expected that any stored data will be updated to the new timeline and any newly generated measurement data will use the updated timeline in its time stamp.
If notifications are enabled on the current time characteristic a reason for date time adjustment should be notified but there is no information regarding the amount of adjustment.
If the DUT does not pass test 3.0.0.0 it may not be possible to run this test.

	Test Procedure

	1. If the DUT does not support a CTS, the test is not applicable. Exit.
2. If the Current Time Characteristic is not writable, the test is not applicable. Exit.
3. Assure that there are no temporarily stored measurements on the DUT.
4. Pair the DUT with the test collector.
5. Have the collector read the Current Time characteristic and note its value.
6. Have the collector write a new current time that is significantly different from the read current time (for example a day earlier or later).
7. Validate that the write was successful or returned an error code 0x80.
8. In either case re-read the Current Time characteristic.
9. Validate that the read is successful.
10. If the response to the write was not 0x80, validate that the updated time was the time written by the collector in step 6.
11. If the response to the write was 0x80, note the re-read current time; it may still have been changed.
12. Have the collector enable all PCHA supported characteristics.
13. Take a measurement with the DUT. This step may require disconnecting and reconnecting. If a reconnect is required, do not set the time but read the new current time.
14. Validate that the measurement time stamp uses the newly set time line. (The tester needs to account for the additional time to take the measurement, thus the need to set the time to a notably different value in step 6.)

	Observable Results

	Status
	Description
	Procedure

	Pass
	The DUT passes all assertions
	

	Fail
	The DUT reports a non 0x80 error code to the Current Time write
	7

	
	The collector is unable to re-read the Current Time characteristic
	9

	
	The Measurement time stamp does not use the newly set time
	14





3.0.0.2 Proper Update of Temporarily Stored Data Timestamps on Set Time
	Purpose

	Check that a DUT properly adjusts the time stamps of temporarily stored data in response to a set time.

	Discussion

	The DUT needs to assure that all the data is provided on a consistent time line. This requirement is part of the 11073 20601 specification but it is not part of BTLE. Unadjusted times could lead to significant errors in the data.
If the DUT does not pass test 3.0.0.0 and 3.0.0.1 it may not be possible to run this test.
This test does not apply to Glucometers which do not have temporarily stored measurements.

	Test Procedure

	1. If the DUT does not support a CTS and a writable Current Time characteristic this test does not apply. Exit.
2. Assure that the DUT is paired with the test collector.
3. Connect to the DUT and record its current time
4. Take a measurement on the DUT and record the time stamp of the measurement; ignore the time stamps of any temporarily stored measurements.
5. Unpair the DUT and test collector. This step assures that any measurements will not be sent until the test collector enables them and assures that the collector will not connect to the DUT while taking the measurement.
6. Take a measurement and note its time based upon the timeline of the DUT.
7. Wait a notable time period and connect and pair with the DUT and perform all the other necessary spin up procedures (service discovery and reading the DIS).
8. Set the current time to a day ahead.
9. If a re-read shows that the time is not set note this fact.
10. Enable the PCHA measurement characteristics.
11. Invoke an RACP transfer if required (eg on Pulse Oximeter)
12. If the temporarily stored measurement is not sent, take a measurement to induce its sending.
13. If the time set was successful, validate that the time stamp of the temporarily stored measurement has been properly adjusted to the new timeline.
14. If the time set was not done, validate that the time stamp of the temporarily stored measurement remains on the existing time line.

	Observable Results

	Status
	Description
	Procedure

	Pass
	The DUT passes all assertions
	

	Fail
	The DUT does not adjust the time stamp of the temporarily stored measurement after a successful set time
	13

	
	The DUT adjusts the time stamp of the temporarily stored measurement to the set time but the re-read of the current time after the set indicates that the time was not set.
	14





3.0.0.3 Writable DateTime Characteristic with New Measurements
	Purpose

	Check that a DUT supporting a writable DateTime Characteristic for the purposes of setting time properly uses the updated time.

	Discussion

	This test is somewhat harder to justify because having a writable DateTime characteristic as a means of setting the current time is not part of the BTLE standards. It was an approach used by companies to allow the collector to set the time of a peripheral before BT SIG updated the CTS to allow the CurrentTime characteristic to be writable. This test assumes that IF there is a writable DateTime characteristic its purpose is for setting the current time; an assumption which may be wrong. In addition, there is no standardized means of indicating a refusal to accept an update of the attempted write (as with the 0x80 code in the case of the CTS). The DUT may return an error code or succeed and simply not update the time assuming the collector will re-read the DateTime characteristic to check the update.
If the DUT does not pass test 3.0.0.0 it may not be possible to run this test.

	Test Procedure

	1. If the DUT does not support a readable and writable DateTime characteristic in any service for the purposes of updating the current time, this test is not applicable. Exit.
2. Assure that there are no temporarily stored measurements on the DUT.
3. Pair the DUT with the test collector.
4. Have the collector read the DateTime characteristic and note its value.
5. Have the collector write a new current time that is significantly different from the read current time (for example a day earlier or later).
6. The write may return an error code or not. In either case, re-read the DateTime characteristic.
7. Validate that the read is successful.
8. Note if the time has been set or not.
9. Have the collector enable all PCHA supported characteristics.
10. Take a measurement with the DUT. This step may require disconnecting and reconnecting. If a reconnect is required, do not set the time but read the new current time.
11. Validate that the measurement time stamp uses the time line read in step 6. (The tester needs to account for the additional time to take the measurement, thus the need to set the time to a notably different value in step 6.)

	Observable Results

	Status
	Description
	Procedure

	Pass
	The DUT passes all assertions
	

	Fail
	The collector is unable to re-read the DateTime characteristic after the write attempt
	6

	
	The Measurement time stamp does not use the time line read in step 6
	11





3.0.0.4 Proper Update of Temporarily Stored Data Timestamps on Set Time using DateTime
	Purpose

	Check that a DUT properly adjusts the time stamps of temporarily stored data in response to a set time with a writable DateTime characteristic.

	Discussion

	This test is subject to the same limitations as test 3.0.0.3; using a writable DateTime characteristic as a means of setting the time is not a standardized procedure. If the purpose of the writable DateTime is not for setting the current time, this test does not apply. If it is, this test checks that the temporarily stored measurement time stamps are adjusted to the new time line or at least use the time line revealed by the DateTime.
If the DUT does not pass test 3.0.0.0 and 3.0.0.3 it may not be possible to run this test.
This test does not apply to Glucometers which do not have temporarily stored measurements.

	Test Procedure

	1. If the DUT does not support a readable and writable DateTime characteristic in any service for the purposes of updating the current time, this test does not apply. Exit.
2. Assure that the DUT is paired with the test collector.
3. Connect to the DUT and record its current time
4. Take a measurement on the DUT and record the time stamp of the measurement; ignore the time stamps of any temporarily stored measurements.
5. Unpair the DUT and test collector. This step assures that any measurements will not be sent until the test collector enables them and assures that the collector will not connect to the DUT while taking the measurement.
6. Take a measurement and note its time based upon the timeline of the DUT.
7. Wait a notable time period and connect and pair with the DUT and perform all the other necessary spin up procedures (service discovery and reading the DIS).
8. Set the current time to a day ahead by writing to the DateTime characteristic.
9. Re-read the DateTime characteristic
10. Note the time line revealed by the re-read (it may not have been adjusted).
11. Enable the PCHA measurement and control point characteristics.
12. Invoke an RACP transfer if required (eg on Pulse Oximeter)
13. If the temporarily stored measurement is not sent, take a measurement to induce its sending.
14. Validate that the time stamp of the temporarily stored measurement is on the existing time line as exposed in step 9.

	Observable Results

	Status
	Description
	Procedure

	Pass
	The DUT passes all assertions
	

	Fail
	The time stamp of the temporarily stored measurement is not consistent with the timeline revealed in step 9
	14





4.0.0.0 Premature Timeouts
	Purpose

	Check that a DUT does not prematurely disconnect when pairing is done first such that the collector can establish a bonded relationship.

	Discussion

	The BTLE profiles state “Once connected, the Thermometer should wait for an idle connection timeout (see Section 5.1.5) to allow the Collector to complete configuration”. The ‘idle connection timeout’ is, at the time of this writing, 5 seconds for all PCHA supported profiles.

What this test does is delay 4.5 seconds between each ‘significant’ action. It expects the DUT to remain connected such that the collector can perform all actions necessary to establish a bonded relationship. In this case pairing is done first and the collector expects to be able to complete service discovery, read the DIS, read and perhaps set the current time, and enable all characteristics the collector is interested in. The pairing procedure is not ‘delayed’ as to date there has been no disconnect interoperability issues associated with it.

This test may be limited or enhanced based upon the low level control the test collector has.

	Test Procedure

	1. Assure that the DUT and test collector are not paired.
2. Take a measurement off line
3. Do whatever is necessary to get the DUT to advertise
4. Connect to the DUT and initiate pairing
5. When pairing completes, begin service discovery.
6. When service discovery completes, delay before invoking characteristic discovery
7. Validate that characteristic discovery completes
8. Delay before invoking descriptor discovery
9. Validate that descriptor discovery completes
10. Delay before reading the reading each DIS characteristic
11. Validate that each read completes successfully.
11.1. Save the read result of one of the successful reads.
12. If the DUT supports a current time characteristic,
12.1.  Delay before reading it
12.2. Validate that the read is successful
12.3. If the DUT supports a writable current time characteristic,
12.3.1. Delay before writing it with the current time
12.3.2. Validate that the write is successful (may return a 0x80 error code).
12.3.3. Delay before re-reading the written current time
12.3.4. Validate that the re-read is successful
13. Delay before enabling each PCHA supported characteristic and control point
14. Validate that each enabling is successful
15. If the DUT supports an RACP control point
15.1. Delay before invoking a transfer
15.2. Validate the RACP write is successful
16. Validate that the measurement (or any additional stored measurements) is (are) received. One may need to take an additional measurement to get the temporarily stored measurement to transfer.
17. Delay before disabling the enabled characteristics and control points
18. Validate that the disabling completes
19. Re-read the DIS characteristic whose value has been saved
20. Validate the read gives the previously saved value.

	Observable Results

	Status
	Description
	Procedure

	Pass
	The DUT passes all assertions
	

	Fail
	Characteristic discovery does not complete
	7

	Fail
	Descriptor discovery does not complete
	9

	Fail
	Reading each DIS characteristic does not complete
	11

	
	If the DUT supports a current time characteristic, reading it does not complete
	12.2

	
	If the DUT supports a writable current time characteristic, writing it does not complete
	12.3.2

	
	If the DUT supports a writable current time characteristic, re-reading it does not complete
	12.3.4

	
	Enabling characteristics and control points does not complete
	14

	
	If the DUT supports an RACP, invoking a transfer does not complete
	15.2

	
	The temporarily stored measurement is not received
	16
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1.0.0.0 Advertisement Content
Summary: Main point here is that the service type and friendly name of the device is available in the advertisements
1.0.0.1 Advertisement Frequency First Time Connection
1.0.0.2 Advertisement Reconnection
Summary: Main point here is that the time from advertisement to connection is ‘short’. The faster the better.

2.0.0.0 First time Pairing Not Immediate (test not implemented)
2.0.0.1 First time Pairing Immediate
2.0.0.2 Pairing On Authentication Failure
2.0.0.3 Pairing to a new Peer when paired
2.0.0.4 Repairing
2.0.0.5 Pairing without Resolvable Random Addressing IRK exchange (not implemented)

3.0.0.0 Consistency of Current Time
Summary: Time stamps are on time line of current time (even if time is set)
3.0.0.1 Settable Current Time in CTS with New Measurements
3.0.0.2 Proper Update of Temporarily Stored Data Timestamps on CTS Set Time
3.0.0.3 Writable DateTime Characteristic with New Measurements
3.0.0.4 Proper Update of Temporarily Stored Data Timestamps on Set Time using DateTime

4.0.0.0 Premature Timeouts (not implemented)
